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Computational Tree Logic

(CTL)




Limitations of LTL

selecty selecty

They are trace equivalent.

These two transition systems satisfy the same set of LTL formulas. But
they function in different ways.




Computational Tree Logic (CTL)




CTL Syntax

S’ra’reFormuli}I-CI)::: true | a l O A Dy } P } E|g0 | \V/QO

Path Formula | Q= O ) ‘ (I)l U (I)Q

o o

Examples: 30O (x =1) VO@=1) peeds moth anhﬁ:&/"
A
But not: % —1 AVO@>3) 30 @l =1)

needdS a bvx:tbm\.k o‘?@"&i—@”n}




Eventually and Always

eventually: 0P J(true U ®)
VoD V(true U ®)




Meaning of CTL: Examples
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CTL Semantics
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CTL for LTSs




End of CTL




